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3. Ugougouon I

3.1 100000000000O00O (ODD)

00 8.1.00 ICROD 10000 fO0eel0000DO0OOOY
lim f(z) = f(a)

r—a

0000000000 Y000 0000 I00000000O fO IO
ooboooboooooooooooobooooo

032 (1) 00O0OOO14 (0000000000
1 (x40),
xTr) =
f=) {O (x =0).
00 lim f(z) = lim f(z)= lim f(z)=10000 f(0)=00
x—0 r—+0 x——0
(2 OOOO fOooOOOOOUOO
fz) = cos = (z#0),
0 (x =0).
DDDmn:ﬁ?yn:@ﬁﬁﬂn:Lz3m)DDDDDD@A,
{y,} 00000 000000 lim f(z,) =1, lim f(y,) =-100
n—oo n—roo
000 lim f(2) D000OD0ODO &
z—0
6000000000 0DOO000000DoDoooogon
00 33.10000 fO «000OD0OO0O0O0 «0O0O0OO0OO

oooooooooo

(lim £(@)) = f(@) = lim (f(z) = f(a) = lim (f(a+h) = f(a))

T—a —a

=t (£ 10) = (i, H 5 ) ()

= f'(a) x0=0.

2018 0 40 230/300 (20180 40 27000)

Yoo continuous; 000 0: a continuous function.

20000 ¢ 0 «00000000000000000 f(z)0 f(e) 000000 3.2(2) 0000
goo0oobDoOoooooooooD

f(z) = |=| flz)= ¥z
031 O34

034. (1) OO f(x)=2|0 00000O00O0O0O0O 31000
(2) flx)=¥2x(xeR)000000O00 fOO0D0DO0OOOOOOOO
F() - FO)] _ 1

h %2

000000 fO00000000O00O0O0ODOOOOOO0O 3.1000
(3) 0140 (1) OooOoOoOoO

— 400 (h—0)

1 1
2?sin= + -z (2 #0)
fz) = v 2
0 (x =0)
000 (0O0O0OO0 ROOD)ODOOODOO

1 1 1
2zsin— —cos—+ = (x#0)

fw=q, * 7
) (x=0)
000000 f(0)0 “0C0000000”3 000000 &

m CF-000 0000000010000 f000 70
e C-0O0DDYO0O IODOODODO
e C-00D0DOOI/DOOOODOOODOO f/OID0O0DOOOOOO
e CFODOkK>00000000D000f0 kODODO f®OoDO0ODOO
000 7000000000
e C.0000D0ODODODOCODOO ADDOODO CkODODODOO
oooo

30oooo0000: the squeeze theorem.
DCO-0: of class C°; C™-0: of class C"; C°°-0: of class C™ (C-infinity).
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035 e 034(3)000 fO0ROOOODOOOC-0000000
000320 (2)00000 f000000000

e 0100000000000000000000 C®-0000000

0000 ¢z0 {z|z>0,000000000000 o

3.2 0OO0O0OO0O00O0O0O0O000000

O0o0o0oo0oDbOooooO0oo0oo0oDbOooOooobOooooOoo 20000
00000000000 ReRO0O000 (n>2)00000000000

" 00 0000 R200000 DOOODOOOOOOOO “0000
0000000”?00000%00000 RROOODOoOoooooon®

{(z,y) € R?|2? +¢* < r?}, {(z,y) eR*|la <z < bc<y<d}
0000000000000 r,a,b,¢,d0r>0,a<bc<d00000

m 00 20000 f00000 ADOOOO
(3.1) lim  f(z,y)=A (f(x,y) — A ((m,y) — (a,b)))

(2.y)—(a,b)
0000700 (2,9y) 000000000 (a,b) 000000 f(z,y) OO
0 AD0DO0DOOOO0®mMO000000 (a+h,b+k) 0 (a,b) 000

0000 (hk)O (0,00 000000000000

3.2 lim z,y) =  lim a+h,b+ k).
( ) (z,y)—(a,b) f( y) (h,k)—(0,0) f( )

00 3.6. 20000 a, 8, f O

lim «a(h,k)=0, lim h,k) =0, lim x,y)=A
(h,k)—(0,0) (h: ) (h,k)—>(0,0)ﬂ( ) (z,y)—(a,b) fz:9)
gooooooooo li h,k),b h,k)) = A.
sl f (ot alh k). b+ B(h k)

500: adomain; 0000000000 OOOOOOO

)000: an open disc; D000 : an open rectangle (rectangular domain).

Dz, y) = (a,b) 0000000000000 (a,b) 0000000000000000000000
0 00O the limit.
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0O 3.7. (1) (31)000000000000000000000OO0
020000 {h,}, {k,} 00009 000000000000

dim fla+ hbt k) = A.
(2) (31)0 D00D00000000000000{f(a+ hn,b+k,)} O
A0000D0D0000000000000 {h,}, {k,}) 000000
000000000000

038 (1) R2OOOOOOOOOO

2xy
21 (@) #0,0
PR b= ((z,y) # (0,0))

0 ((z,y) = (0,0))
0000000 2-60000000h, =1/n, k,=1/n,kl, =—1/n
030000 {hn}, {k.}, {k,} 0000000000 O0D0OODODO
M f(hn k) =1, lm f(hn, k) = —1

000000010000 3.7(1)000(z,y)— (0,00000 f(z,y)
O1000000000000000000 2000 f(.r,y)D -1
O0o0o0ooooooooooooooooon (x,y)—>(0,0)DDD
flxz,y) 00O0DDDOOOODOOOOOOO

gooo0dboO0o yOOOODODDOOO0D10ODODOOODODDODOODDOO

. . 2zy . .
E%f@wf—ggﬂ+y2—0 oo &g(ggﬂ%w)—&
ooo
2xy

;li% (x’y)zl}%ﬁ—i-zﬁ:o ooo il_r)r%)(ig% (x,y)):O.

©2) flz,y) = (?—y?)/(=2+92) 0 (z,y)— (0,00 000000000
0oooooooo

hm(Mﬁ@szL thmf@w):q.

z—0 \y—0 y—0 \z—0
(3) 0O fz,y) =ay(@®-y*)/(2* +4*) O (z,9) — (0,00 0000 0
O000000r>00 60000 x=rcosf,y=rsinf 00000

9)0o0oo000o: arbitrary; 000 X 0000 POOOOO: P holds for an arbitrary X.
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(z,9) = (0,000 r=+/22 +¢y2 - 00000000000

(*)  f(z,y) = f(rcosh,rsinf) = r? cosfsin f(cos®  — sin? #)
= %rg sin 26 cos 26 = irQ sin 460

000|sin40|£10000(x)0000r—00 000000 ¢

m 00 031000000 200000000000000000O0
00 3.9. 00 DcR?0020000 fO(,b)eDDOOODDOOODO
lim z,y) = f(a,b
(w’y)ﬁ(a)b)f( y) = f(a,b)

oo0o0ooooO00oo0O0 fOo000 pOOOOOOOOOOOOOOO
fO0DO0ODODOOCOO pOOOOODOODOODOOOO

0 3.10. (1) 0380 (1)000 f0O (0,00000000000000
00000 f.(0,0)=£,(0,00=00000
(2) DOODOOO 2900 (0,0000000000 3.8 (3)

@ =) 0
fag) = i (@97F00)

0 ((xvy) = (0’0)) ¢

00 z,y 00000000000 ODOCOOODOOOOODOOOOOO
gboboooooboobboboboboobobobobobooooban
ooooooooob obOboOoOoOoOooDbDooooOg

m 00000 03100 (1)OOOODODOODOODOOOODOOOODOOOO
gbobooboooooooboboboboboo

00 3.11. 00 DcR?00000000 f(x,y) 0 (a,b) e DOOOODO
00000000 A, BOOUOOOOOODOOOO (hk)#(0,000000

(33)  fla+h,b+k)— fla,b) = Ah + Bk + e(h, k)V/h2 + k2
000 e, k) 00000000O00OO0OOOOOOO0O

lim  e(h,k)=0.
(h,k)—(0,0)
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00 3.12. 00 f(z,9) 0 (¢,b) 000000000f0 (a,b) 00000
000(3.3)000 A, BO A= fu(a,b), B=f,(a,b) 0000000000

0000 (33)0 k=0000
fla+h,b) — fla,b)  Ah+e(h,0)vVh2

|hl
N = A —A+5(h0)h
000 —|e(h,0)] < e(h, 0) 2L < |e(h, 0000 A > 00000 (h,0) > 0000
o Jlathb) = flab) _
A= h—»O h _fz(a’b).
00 A=0000000 B=fy(a,b) 000000 O

oobooooo s11oo00oo0oon

00 3.13. 00 DcR*00000000 f(z,y) O (a,b) e DODOODO
000000000000000f0 (e,b) 00000000

(3.4) lim e(h, k)=

(h,k)—(0,0)
(E(h k) := fla+h,b+k)— f(a,b) — fu(a,b)h — fy(a,b)k)
o NrEwr

gboobobobobg

00 8.14. 00 f0O (a,b) 00000000 (a,b) 0000000

0000 (3.3)0000 (hk)—(0,000000000 O

00 3.15. 00 3.1200000000000003.8(1)0 f0 (0,0) 0
00000000000000310000000000000 314000
0DO0O0O00o000oo0

" 0000000000

00 316. U0 DOOOOOO 20000 fO0 DOOOOOOOOOO
o0oo0o f, f,0D000000 f0 DOOOOOOOOOOOO

gobooooooobooboooooo3sbooooogn
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0O 317. 00 316000000000000

1
2 2V gin ————
fla,y) = (x* +y%)s Nrcwr ((z,y) # (0,0))
! ((z,y) = (0,0))
D (0,00000000000 f,, f, 0000000000 ¢

m OJO000000000

00 3.18. 00 DCR*000000 20000 f0200200000
foy, f, 000000000000000, foy =f,, 000000

m Ck-000 OO0 DCR?200000020000 fO0 DO
e C'-000 DOOODODDO
e Cl.0D0 DODOODOODODODDOOSf, f,0 DOODOOOODOOO

e C2-0000000f0200000 fan fays fyer fyy 000000
0000000 DOOOOOODO0

e CF-O00KDODO0OOOOO fO KODDODDOOOOOOOOOOO
o0 pOooooOoobooooDo

e C>*.0000D0DDD AKDDDDO CkODDOOOOOODOD
03.19. 00 DcR?00000000 fO
) 00O0DDO0 ¢-0000000 3.1400
2) Cl-0000000000000O0 3.1600
)y k<mDODOO Cc™-0000 ck-00000
) C*0000 fo=f,, 0000D0O00O 3.1800

3.3 OOOaoan

00 f(z,y) 000000 P=(e,b) 00000000000

(35) @ = (L. Haw)
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0000002000000 (df)p 000 f00 POODOODOOODDOO
00000 'Y00000(2,y) 0000 2000000 (fuo(z,9), fy(z,y))
00000000 d4df0 f0000000O0ODODOOO

(o of

(3.6) df = (895’83/)'

0 3.20. 00 ¢(z,y) ==, Y(z,y) =y 0000 dp = (1,0), dy = (0,1) O
0000000000000000dx =(1,0), dy =(0,1). &

032000000000 (3.6)0

) 9
(3.7) df = a—idx + 8—5@

000000000000000000000000000
0 3.21. 000000000 (33)0000000(hkk) O (0,00 000
VRZ¥ K2 0000000000000000000000000000(h,k)
0 (Az,Ay) 00000000 (0,00 0000000000000

0 3}
(3.8) Af= a—i(a,b)Am + a—g(a,b)Ay,

(Af ::f(a+Ax,b+Ay)—f(a,b))
g0oo0obobdbD =00b0o0obooboobbooboboobobooooo
ggdddddodouoduouoobooooboboboobbobobo &

m 0000000 0000000 7000000010000 z(t), y(t)
0O (z(t),y(t)) D 1000000 R200000000O

'y:IBtr—Wy(t):(x(t),y(t))ERQ.
000000000000000000000000 000 Woooooo
0000 2(t), y(¢) 0000000000000 00 2000000 %

9gp 2000000000 20000000000000 (1,2)-000000000000D000D
0000000000b0O000 40000;000000a row vector 000 000a column vector;
0000 a total differential; 0 0 O a differential.

11)DD[Iacurve; 00000000000 a parametric representation of the curve.
2)0pooO000 4000 “0000” 0000000000000000000 y(t) = (t—sint, 1—
Cost) 0000000 (eycloid) 000000000 DDOOOOO 20000000000000000
ce-goopo0dgot=2nr 000000 (2n7,0) (n=0,4+1,4+2,...) 00000000000
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000007 00000000000 () = (z(¢),y(t)) 0000

310 = 0 = (@0.900) = (0. 5 0))
000000 (z(t),y(t)) DOODOOOOOOOOOO ¥OOOO0O0O0¢tO0
0000000004() 000 +0000000000000000000
00 (+)00000000000000000000000000000O0
000 4(+) 000 +00000000000000000000000

0 3.22. (1) 0000 v=(v1,v2) 00 P=(a,b) 0000
Y(t) = (a+ tvr, b+ tvy)

0¢t=000 POODOOODOOD »00000000000000
0 PO00 00000000000 32000

(2) 00000 sO0O00 o(s) = (coss,sins) (—r<s<m) 0000
0000000 10000 (1,00 000000000 Yoooo
0000 (—sins,coss) 000000000 100000000 3.2
0000

(3) DOO0DDDOODDOO0OO0 10000 (-1,000000000000

B 1—¢* 2t

0000 t=tan$ 00000(2) 0000000000 3.2000¢
20000 f(z,y) 000 ~(t) = (=(t),y(t)) DOOOO
(3.9) F(t) = f(2(t),y(t)).
001000000000

00 3.23. 0000020000 f(z,y) 00000000 4(t) = (2(t),y(t))

00000@B9Y 0100000000000 00000oO0ooOO

0= T @Op0) G0+ 5 w0,0) G0,

00000 ¢+0000000060 10000 h(8), k) 0ODODO
h(d) :=z(t 4+ 6) — z(¢), k(d) =yt +96) —y(t)

130000000 the velocity vector; 000 the speed. 000000000000
MOgpooa line; O O a circle.
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(€] (2) (3)

032 0O 3.22

00000,y 000000 6§—0000 A(S), k(§) »00000

a(0) = ZEED=HO 5y 2 MO g, e =MD g

0000D0z(t),y(t) 00000000 6§ »00000e1(6), e2(6) - 0000000
0000000f00000000

F(t+0) — F(t) = f(z(t+0),y(t +9)) — f(x(t),y(t))

= f(z(t) + h(0),y(t) + k(3)) — f(=(t),y(1))
:=gﬁ@@%y@Dh®)+gg@@%y@»k@%+dh®%k®» h(6)? + k(6)?
0000000 e(h,k) 0 (hk)— (0,00000000000000000000000

F(t+68) — F(t)

§
= 2 (@0, 50) 60 + £10)) + 5L (@(0,4(0) (50 + £200)

“J t) +21(0))° + (9(t) + £2(6))*.
DDDd—»ODDDq@)%OJ]_LmDDD(M&$@)%(Q®DDD
e(h(6),k(6)) »0000DO ||§]/6| =1 00000000000

F(0) =t TEEOZEO A a yw)in + O @oww)i) O

oo
0000000 “«c0”00U00000oU00o0oU0o0oU0oOoUoOooooUoo
gooooooooooooooobooboooooo
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O00.000 I=[eb 002000000 z,y00 v(t) = (2(t),y(t)) (a <t <b)
00000 RP0000000 v(e)0~(b) 00000 y000,000000

00. 0000 R*00000 DOOOOOODOOODOOO0 P,QOODOO PO
000QODDO0DD0O000 v:[a,b] =R*00 ~(t) (a<t<b)0 DOODODO
000000000000000(MO0000000 “00000” 00000
00. 0000 R*00 P=(e,b) 00000 0000

Ue(P) = {(z,y) € R*|(z — a)* + (y = b)* <"} CR?
000000 R?000000 “0 POOOOOODOO 000”0000

00. 0000 R200000 DOOOO ®OoOoooo DOOO POOOO
U (P)cDOO0OOOOOOOD ed00D00DO0DOOOODOOO

gooooooooooboooooooooooono

00. 0000 F:R?-ROO0O0O00 {(z,y) € R?|F(z,y) >0} 0 R*> 00
oooooo

O0. 0000 RPO0D0OO0OO0O00OO00O0000000000O0

00 3.16000 3.18000
000000000000000000000000000000 900000

00 (DODO0O0OO0). 00 fODD IDODO0ODODOOOODO ael0a+hel
000000 AO0O0DO0OO0O0OO0OD0 000000

fla+h)—f(a)=fla+0h)h (0<0<1).

003.16 00000 (a,b) e DODDODODODO0O0DO0O0D0000 h, kODD
0 (34) 0000 ¢(h,k) 0000000 00000000000D000KOO00O0
00 F(h):= f(a+h,b+k)— f(a,b+k) 00000 f000000000 FO A
000000000 F'(h) = fo(a+h,b+k), F(O)=0000000000 FOO
00000000000

F(h) = F(h) — F(0) = F'(0h)h = fo(a+0h,b+k)h  (0<0<1)
0000 4000000000 G(k) = f(a,b+k)— f(a,b) 00000KDDOD

G(k) = G'(6k)k = fy(a,b+ok)k  (0<d<1)

0000 6000000000000000
F(h) + G(k) — fe(a,b)h — fy(a,b)k

s(h k) = NEE

¥)goo: an open set; DO O0O: a connected set; OO0 : a disc (disk).
19)g00000: the mean value theorem. 000000000000000000

030 (20180427) 36
h k
= (fa(a+ 0h,b+ k) — fz(a, b))ﬁ + (fy(a,b+ k) — fy(a, b))\/ﬁ

000000k < |Al, |6k < |kl DO |h/VRZ+E2 £ 1, |k/VAZ T #2| <1 0000
00 (hk) — (0,00 0000 000000 O

0031800000 (a,b) € DODO0DD fuy(a,b) = fye(a,b) 0000000
fla+h,b+k)— f(a,b+k)— f(a+ h,b) + f(a,b)

V=V(hk):= WE
O000ooooOA kOO0 OOOODOODOOOOOO
1 F(h)— F(0
V:E% (F(t) ::f(a-‘rt,b-‘rk)—f(a-‘rt,b))

O00F'(t) = fu(a+t,b+k)— fola+t,b) 000000000000000000

V= %F’(é)lh) - %(fz(a F 0k b+ k) — fala+ 01h,0)

1
= E(Fl(k) — F1(0)) (F1(t) := fo(a+ O1h,b+ 1))
000 6, €(0,1) 000000000 F{(t) = fay(a+0:1h,b+¢t) 00000000

ooooooooooog 61,0, 000000000000

) V = fuy(a+0uhb+02k) (61,00 € (0,1)).

000 V = (G(k) — G(0))/(hk) (G(t) := f(a+h,b+1t)— f(a,b+1) 000D
(%) V = fya(a+@ih,b+p2k)  (p1,92 € (0,1))

000 @1, 92 000000 fay, fye 100000 (%), (%) O (A k) = (0,0) OO
00000000 fay(a,b) = fye(e,b) 000000000000 O

U g 3

3-1 0O 34,3.8,3.10,3.17v 00000000

3-2 20000000000000000000000000000O0O0O0O00O0C!-
gooooobooooooobooooo
000000 = 00000 % 0000000 f(z,y) =22 +y° 0 (0,0)
oboooooboooooo

3-3 00 f(z,y) =e€"(cosy+siny) 0000 f(0.1,0.2) 000000 (3.8) 00
gboboobooboooboooboobooboobobobooooboooboooboo

3-4 20000 f0 “0000DO0O0OO” 00O 220000 () 0000 t0OO
000000000 00000000 (3900000 1000000000
gooooooooogoo



